

# 演習 5.19

$$y_n = \sigma(a_n), \quad a_n = \sum w_j z_{nj}$$

$$E = - \sum_n \{ t_n \ln y_n + (1-t_n) \ln (1-y_n) \} \quad \dots (5.23) \quad \tau'' K = 1 \alpha \text{ と } \ddagger$$

$$\nabla E = - \sum_n \left\{ t_n \frac{\nabla y_n}{y_n} + (1-t_n) \frac{-\nabla y_n}{1-y_n} \right\}$$

∴ ∇E

$$\nabla \left( \frac{\nabla y_n}{y_n} \right) = \frac{(\nabla \nabla y_n) y_n - \nabla y_n (\nabla y_n)^T}{y_n^2}$$

$$\nabla \left( \frac{\nabla y_n}{1-y_n} \right) = \frac{(\nabla \nabla y_n) (1-y_n) + \nabla y_n (\nabla y_n)^T}{(1-y_n)^2}$$

$$\therefore \nabla \nabla E = - \sum_n t_n \frac{(\nabla \nabla y_n) y_n - \nabla y_n (\nabla y_n)^T}{y_n^2} + (1-t_n) (-1) \frac{(\nabla \nabla y_n) (1-y_n) + \nabla y_n (\nabla y_n)^T}{(1-y_n)^2}$$

$$= - \sum_n \nabla y_n (\nabla y_n)^T \left\{ \frac{-t_n}{y_n^2} + \frac{-(1-t_n)}{(1-y_n)^2} \right\} + \nabla \nabla y_n \left\{ \frac{t_n}{y_n} + \frac{-(1-t_n)}{1-y_n} \right\}$$

$$= \sum_n \nabla y_n (\nabla y_n)^T \frac{t_n (1-y_n)^2 + (1-t_n) y_n^2}{y_n^2 (1-y_n)^2} - \nabla \nabla y_n \frac{t_n (1-y_n) - (1-t_n) y_n}{y_n (1-y_n)}$$

∴ ∇E

$$\frac{\partial y_n}{\partial w_i} = \frac{\partial}{\partial w_i} \sigma(\sum w_j z_{nj}) = \sigma'(\sum w_j z_{nj}) z_{ni} = y_n (1-y_n) \frac{\partial a_n}{\partial w_i} \leftarrow z_{ni} = \frac{\partial a_n}{\partial w_i}$$

∴ ∇E

$$\nabla y_n = \begin{pmatrix} \frac{\partial y_n}{\partial w_1} \\ \frac{\partial y_n}{\partial w_2} \end{pmatrix} y_n = y_n (1-y_n) \begin{pmatrix} \frac{\partial a_n}{\partial w_1} \\ \frac{\partial a_n}{\partial w_2} \end{pmatrix} = y_n (1-y_n) \nabla a_n$$

$$\therefore \nabla y_n (\nabla y_n)^T = y_n^2 (1-y_n)^2 \nabla a_n (\nabla a_n)^T$$

∴ ∇E

$$\nabla \nabla y_n = \begin{pmatrix} \frac{\partial y_n}{\partial w_1} \\ \frac{\partial y_n}{\partial w_2} \end{pmatrix} (\nabla y_n)^T = \begin{pmatrix} \frac{\partial y_n}{\partial w_1} \\ \frac{\partial y_n}{\partial w_2} \end{pmatrix} y_n (1-y_n) (\nabla a_n)^T$$

$$= (1-y_n) \nabla y_n (\nabla a_n)^T + y_n (-1) \nabla y_n (\nabla a_n)^T + y_n (1-y_n) \nabla \nabla a_n$$

$$= (1-y_n)^2 y_n \nabla a_n (\nabla a_n)^T - (1-y_n) y_n^2 \nabla a_n (\nabla a_n)^T + y_n (1-y_n) \nabla \nabla a_n$$

$$\nabla \nabla a_n = 0 \quad \text{∴ ∇E}$$

$$\nabla \nabla E = \sum_n \nabla a_n (\nabla a_n)^T \left\{ t_n (1-y_n)^2 + (1-t_n) y_n^2 \right\} - \nabla a_n (\nabla a_n)^T \left\{ (1-y_n) - y_n \right\} \left\{ t_n (1-y_n) - (1-t_n) y_n \right\}$$

=

$$t_n z_{n1} y_n - y_n + t_n y_n$$

$$\begin{aligned}
 & \quad \quad \quad \downarrow \\
 & \quad \quad \quad (1-2g_n)(\tau_n - g_n) \\
 & = \sum_n \nabla a_n (\nabla a_n)^T \left\{ \cancel{\tau_n} - 2\cancel{\tau_n}g_n + \cancel{\tau_n}^2g_n^2 + g_n^2 - \cancel{\tau_n}^2g_n^2 - \cancel{\tau_n} + g_n + 2\cancel{\tau_n}g_n - 2g_n^2 \right\} \\
 & = \sum_n \nabla a_n (\nabla a_n)^T (g_n - g_n^2) = \sum_n \nabla a_n (\nabla a_n)^T g_n (1 - g_n) \\
 & = \sum_n g_n (1 - g_n) u u^T, \quad u = \nabla a_n
 \end{aligned}$$

∴ 得子。